
 Quiz 43   

SBU 2020 Lesson 43 (quiz)   

 

 

 

In all the problems you are West.  

Opponents do not bid, and the question is: what do you bid now?  
 

 

1)   AKQ2  West East 

   K6  2NT 3  

   A97  3 4 

   KQ93  ???   ___________ 

 

 

2)   QJ5 West East 

   Q763  1 

   AKJ 3 3 

   842 ???   ___________ 

 

 

3)   Q7 West East 

   AQ964 1 3 

   J1052 ??? 

   A8    _________ 

 

 

4)   KQJ1072 West East  

   - 1 3 

   83 4 4  

   AKQ96 ???   _________ 

 

 

5)   K109632 West East  

   - 1 4 

   KQ84 5 5 

   AK7 ???   _________ 

 

 

6)   A1072 West East  

   Q8 1NT 2  

   KJ103 2 4 

   A96 ???   _________ 

 


